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(= ) 2-methyl-2-butanol
(= ) cis-2,3-dimethyl-3-hexene
(= ) polypropylene
(e ) 2,4,5-trimethylnornane
( 7 ) methyl ethanoate
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I ~ & 4v§ %8 CO (carbon monoxide) £ % § (Clz) 22 COCl > R :

(= )@&d o F pea 2 FF 208 d iy k3t 8 2 298K T 4 F 2 AS (AH =-220
KJ/mole, AG°=-206 KJ/mole) - (5 4 )
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- ~ Please describe the structures and functions of (a) chloroplasts( 4 %8) (b)

mitochondria(#fiﬂﬁwﬁ), respectively. And describe the similarities between them.

= ~ Nitrogen oxides undergo many interesting reactions in the environment and in

industry. Given the following information, calculate AH for the overall equation
2NO,(g) + (1/2) Ox(g) — NO5(s) *

N,05(s) — 2 NO(g) + (3/2) 04(q) AH = 223.7 kJ
NO(g) + (1/2) 0,(g) — NO4(g) AH = -57.1 kJ

A~ Aball thrown up from the ground reaches a maximum height of 30 m. Find:
(= ) itsinitial velocity

( = ) the time taken to reach the highest point

( = ) its velocity just before hitting the ground

(e ) its displacement between 1.5and 2.5 s

( 7 ) the time at which it is 15 m above the ground

[Hint] : 1.The magnitude of the acceleration due to gravity is 9.8 m/s°.
_ —b+t+b*-4ac
2 2a

3.Equations of kinematics:
1
V=V, +at X=X+ (Vo + V)t
1
X = X, + V,t +Eat2

Vi = Ve +2a(Xx—X,)
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1~ Atmospheric particulate matter is microscopic solid or liquid matter suspended in

the Earth's atmosphere. It is also known as particulate matter (PM) or particulates.

Please explain what PM2.5 is and how we apply it to air quality monitoring.

-~ Find the current in each resistor as shown below.
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